U0 = 4.0E16 :

Ul :== 1.0E16:
k = 0.85E7:
G = 2E7:
| (k+ )% U0 K2 Ul 0
M3 = | (k+ &) Ul K*- U0 (k-G)* Ut
| 0 K-ul (k-G)%- U0 |
Figenvectors(M3),

7.86934400000000024 102 + 0. 1
1.84956557000000006 10°* + 0.1 |, [[-0.00122207299999999996 + 0. I,

1.36956508700000008 10°) + 0. I
0.999692391099999966 + 0. I, -0.00117816341499999996 + 0. 1],
[0.999997887100000038 — 0. I, 0.251287147499999974 + 0. 1,

0.251045534999999986 + 0. I},
[ -0.00165303399500000008 + 0. I, 0.00117652224400000006 + 0. [,

0.999586255400000012 + 0. I]]



